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Q. A 31T B &t 31 T
AqATT 2:1 2, 599 913
3T 3T T AT 3:2 &
STTAT B, 3eht AdHTT 3
ITIRT AT N1
Q. The ages of A and B
1 = /\:" are in the ratio 2:1, after 5
= vearstheratig of their

= 3IXx5H)5 dBecomeg 3:2. What
YA/ gedts sum of their
pogsEht ages?
Fu/years
(c) 10
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| Q. T 3T G il Id9™

D) O

AT FHLT: 36 AT AT 16 77

o N N (@
g, ohad a9 9go <ia

i

TSN hT AT & AT AT 7T
STUIHT?

Q. The present ages of

Ravi and Su_raj are 36

years

i

i

e ﬁgctrigely, how many
§Pefore| Ravi's age will
/t ree timgs of Suraj's

ars
6 https://t.me/mahendrasmissionteaching
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Q. fOar &t 3, T i1 s T 6
T gl 4 F9 91 [Oaqr S &y, T

1 3 i 4 AT BT SATUIT, T I3

S TOaT it Faar g (Tt H)

HHIT: %’Z

Q. The age of the father is 6

times the age of the son. After 4

years the age of the father will
ﬁ,tlﬂej the age of the son,

R @,tl\a,@ resent ages (in years)
@,e%)nu and the father

(@ﬁ@?@tjlvely are:
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o= Q. A &7 B T &g T
: FAUTT 2:3 ¢, TT A FT g
18 &, AT 6 9 T=ITd A 31

B =T 3T T a7 1
ST
Q. The ages of A and B
are in the ratio 2 : 3, if the
5fA is 18, then what
I%‘e the ratio of the

15 of A and B after 6
?/C ars?

1 O: I1tt1)s://t.me/mahendrasmissionteaching
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A

N

Q. A3 F¥ A T AE AT 3
o ZLIET gl T a9 Tger 3]

:arqu-rﬁéﬁa?r T
Tt It &l aaHT X Y
:

Q. Abhi's age is twice that of
his daughter. Five years ago,

tes the age of




§9T2TGT CTET / STET 2023

. _ Q. AT TAL IR ATAL T A
Cn 1929 = 63) EEA@@W@
& HITART sl 3 | ATL A1
S of 1) | AT S AT S ST
y I
Q. The sum of the ages of
Monika and her mother is 49

+/ T years ago
/\//Oh,} ﬂn ? 7é y g .’
)a @ T y [Adther's a%e was four times
7 et @ FY£§Sof Monica. Find the
Ot Y=ty = greddnt age of Monica.

/ga: ;57 M =[)|=ffyears

/ (C) 12 https://t.me/mahendrasmissionteaching
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Q. T, ST EE gHT Y 99 i
g, Tg BHIG A X FU =T gl 15
U T4 SHIT sl AT TT T 3
&7 (1/4) = 9 T § -4
qT27?

Q. Rani, who is currently y
years old, is x years older
115 years ago

no‘\)éed@(ag was (1/4) of

ni's age. Which of the
6 ?%éw)?ﬂg 3 true?
(b) 2y-x =15
( )?hxpéytm)ﬁnahendrasmissionteaching
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Q. ATT FAT =hl 3T T T 60
T g, ‘&l‘oﬁ 315 AT AT FTT:
JHE €9 9 4 99 g, 999 T8|
a8 i g fehadT 87
Q. The sum of the ages of
four sisters is 60 years, the
difference between their
agesiseqgually 4 years
(@ép'b@tlvely what is the age
©a8ldest sister?

118
Jy/years
(c) 21
—$ /s ERs.//t. me/mahendrasmissionteaching
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Rﬁ Brech

Q. 39T H R T difa
S T AT 4:3 21 8 AW
aTe T T 3 28 a0 g
ST T TAHTT Y FAT 272
Q. At present the ratio
between Ritu and Preeti
is 4:3. After 8 years,

| ill be 28
JE
A= 2> 7 %gfrgavghat is the
S =S &;%Ent age of Preeti?
Ju/years
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Q. TH 3 ATH 6T TAHTT 3T
T AT 5:6 Bl AT H 7 qU
TS Tg AqATT 6:7 BT SITTIT
T 3T 9ATH sl TAHTH AT F
T foha AT 2ITT?
Q. Present age of Ram and
Shyam are in the ratio 5:6.
After 7 years hence this ratio
ﬁg . What will be
of th present ages
BIREAEN $Shyam?
45) 70
Jy/years

(C) 7%tps://t.me/mahendrasmissionteaching
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Q. 11 T4 98, e 3T AR i
311‘{[@?[6:5 AT| 4 FY TS, I
T ST 11:10 R TR i

TAHTT T FIAT 572
Q. 11 years ago, the ratio of ages
of Akhil and Sagar was 6:5. 4 years

hence t Fth SERIL
/H@j | IWR Z@e present age of
Sagar? ||ad/years
| \jv 2 11(b) 28
v Fu/years
O (c) 30
ERIAEELE
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Q. A, B 3T C &t a9 @
T T 9399 &l 10 a0
@5?,\&«14% AT T AT
2:3:4 IT| C T IqHTH 3
AT &2

Q. The sum of present age
of A, B and C is 93 years.

, the ratio of
{@didge was 2:3:4. What
mithespmssent age of C?

(b) 30
(37 /years
(c) 34
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~Stnuh &M/K\ Q. T[T 3T TH &t A
AT T AT 5:4 81 3T
AT Tg AT 11:9 2T
( 10 m STTUITT| THET &t T 3
SRR S
= ~|Q. Present age of Suresh
and Ramesh are in the
1= 3 Wyears hence,
q = Z#kio will become 11:9.

\
\\2;, ¢ - Whigbiarthe present age of
fnzsh?
Ju/years
(Cc) 28

a.g;%g._p@/mahendrasmissionteaching







